

$$a = (-2)$$

$$a = (-2)$$

$$a = (-2) \quad a = (-2) \quad a = (-2)$$

$$a = (-3) \quad a = (-3) \quad a = (-3)$$

$$a = (-2)$$

$$a = (-2)$$

$$a = (-2) \quad a = (-2) \quad a = (-2)$$

$$a = (-2) \quad a = (-2) \quad a = (-2)$$

$$a = (-2) \quad a = (-2) \quad a = (-2)$$

(source on next page)

```

\def\whatevera
  {\Umathordrelspacing \textstyle=50mu
   \Umathopenbinspacing\textstyle=50mu}

\def\whateverb
  {\Umathordrelspacing \textstyle=25mu
   \Umathopenbinspacing\textstyle=25mu}

$\whatevera a = (-2)$

$\whateverb a = (-2)$

$ {\whatevera a = (-2)}\quad
  {\whateverb a = (-2)}\quad
  {\whatevera a = (-2)}
$

$ {\whatevera a = (-3)}\quad
  {\whateverb a = (-3)}\quad
  {\whatevera a = (-3)}
$

\def\whatevera
  {\frozen\Umathordrelspacing \textstyle=50mu
   \frozen\Umathopenbinspacing\textstyle=50mu}

\def\whateverb
  {\frozen\Umathordrelspacing \textstyle=25mu
   \frozen\Umathopenbinspacing\textstyle=25mu}

$\whatevera a = (-2)$

$\whateverb a = (-2)$

$ {\whatevera a = (-2)}\quad
  {\whateverb a = (-2)}\quad
  {\whatevera a = (-2)}
$

$ {\whatevera a = (-2)}\quad
  {\whateverb\frozen\Umathspacingmode\textstyle1 a = (-2)}\quad
  {\whatevera\frozen\Umathspacingmode\textstyle1 a = (-2)}
$

$ {\whatevera a = (-2)}\quad
  {\whateverb a = (-2)}\quad
  {\whatevera a = (-2)}
$

```